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MENTAL MATHS QUIZ 4:7  

1) 4 x 7  

2) How many cm in a quarter of a metre?  

3) Find the area of this rectangle. 
 
 
 

 

4) What is ¼ of 20?  

5) I buy 2 packs of M&Ms for £2.10. How much did one pack cost?  

6) What is the time in digital? 

 

 

 

 

7) What is the missing number in this sequence? 
37, ___, 45, 49, 53, 57 

 

8) Write down three thousand two hundred and thirty-seven.  

9)  Adam is 3 years older than Ben. Ben is 5 years younger than 
Cate. If Cate is 12, how old is Adam? 

 

10) I have £2. I spend 83p. How much do I have left?  

11) Round 6258 to the nearest 1000.  

12) 0.8 + ___ = 1  

13) Convert the Roman numerals XVI into a number.  

14) 5 x 4 = ___ + 8  

15) On a winter’s day, the temperature is 4°C. It falls by 6°C.  
What is the temperature now? 

 

16) A plane leaves Texas. It arrives in London 10 hours later at 
7:20pm. What time did it leave Texas? 

 

7cm 

2cm 



Name Date 
 

 
 

MENTAL MATHS QUIZ 4:7 ANSWERS 

1) 4 x 7 28 

2) How many cm in a quarter of a metre? 25 

3) Find the area of this rectangle. 
 
 
 

14cm2 

4) What is ¼ of 20? 5 

5) I buy 2 packs of M&Ms for $2.10. How much did one pack cost? £1.05 

6) What is the time in digital? 

 

 

 

8:20 

7) What is the missing number in this sequence? 
37, ___, 45, 49, 53, 57 

41 

8) Write down three thousand two hundred and thirty-seven. 3237 

9)  Adam is 3 years older than Ben. Ben is 5 years younger than 
Cate. If Cate is 12, how old is Adam? 

10 years old 

10) I have £2. I spend 83p. How much do I have left? £1.17 

11) Round 6258 to the nearest 1000. 6000 

12) 0.8 + ___ = 1 0.2 

13) Convert the Roman numerals XVI into a number. 16 

14) 5 x 4 = ___ + 8 12 

15) On a winter’s day, the temperature is 4°C. It falls by 6°C.  
What is the temperature now? 

-2°C 

16) A plane leaves Texas. It arrives in London 10 hours later at 
7:20pm. What time did it leave Texas? 

9:20am 

 

7cm 

2cm 


